TNPSC - GROUP II/ITA
MODEL QUESTION PAPER

Unit -1
Psychology

Scientific Knowledge and Scientific temper

1. Which one of the following is the best anti-dote to superstitious beliefs?
a. Scientific knowledge
b. Scientific temper
c. Untested and un-proven knowledge
d. Strong faith in the long-held ideas.
e. Answer not known.
LNevTeu(heueTeummled el BLIOLNSHmBHEHSHETeT 10d aifluiomer & HbhEH 615?
a. 9falwed oIl
b. 9nfeluwed weILITHhIE
C. SLIeYH@ o L LUBGSHHULLTSH oBpid Beplissiurtgd Sipley.
d. Sewi &mevloTE B(Hb I QUHLD cTewTENIBIBMNGT HTT HLDLNHNS.
e. alemL G flualsvenev

2. What are the characteristics of “Scientific temper”?

i. Questioning others” ideas irrespective of their social position.

ii. Analyzing others’ opinions.

iii. Applying logic.

iv. In view of others’ social positions, accepting their ideas without

questioning or analyzing them.

a. (i) and (ii) only b. (ii) and (iii) only

c. (iv) only d. (i), (ii) and (iii) only

e. Answer not know

SIN¥aIUIGD LT ILITRISIET LIewTLIWIGOL|&H6T WTeneu?

(i) oBBTENST HHSHHIHMET SiUTEHTNST Fps Hlenevenlill GLITHLLBSHSTLO6D
(RO RIRIEIGRIER

(i) BBeTEeNET SHHSHBISHMET LGUUTLIR| CFUIoug.

(iii) sIeEsHMS LWGLIGSHDHIMSHI.

(iv) BBeuTEeiar sHSBIBEMeN Dleujsellen Feps Hensouler sryeniors Caeltal
GaL &moguid, LGLILTUIGY OFUILITIOEID gBmIs ©SBTeTeUgI.

a. (i) mpb (ii) oL B b. (i) wmpud (iiil) o Hw
c. (iv) L (B d. (i), (ii) @b (iii) L GLo
e. alewL G fluwalsdenev
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Rote Learning Vs Conceptual Learning

3. What are the characteristics of “rote learning”?
(i) Does not allow the learner to associate himself/herself with the
surroundings.
(ii)Infuses rigidity in the thinking process.
(iii) Allows the learner to dynamically adapt to the changes in the

surroundings.
(iv) Improves the questioning ability.
a. (3) only b. (1) only
c. (1), (2) and (4) only d. (1) and (2) only

e. Answer not known
QUIT(HEHEWITTLO6D SMMEVIGHESTIU  LewILIWIEOL|SH6T WiTeneu?

(i) SHBUAIT — Heitewerrd  &Bpiuleien GGG  @UhEIBemenihdl  OFuledLIL
SIDILOFHILIFH606M6V.

(ii) FhHBSGD (PemBUlled BBISHLOTRT HETenDemUl 2 L LI&HHBHIFBS.

(iii) BHBUMDTF GlDHlenevsCaBL OHTLIHAH o FHBaslonssd Heiteneal LOTHB S

OBT6ITeN  DIEMILDSH HHWS).
(iv) Gaeital Gl G FHmenen DHBMNEHMBSI.

a. (iii) L B b. (i) w @0
c. (1), (ii) wBEIb (iv) WL G d. (i) wmmid (ii) L G
d. alewL Gxfluiaiedemnsv
Physics
Light
4. The reason behind the spectacular brilliance of diamonds and twinkling of
stars is:
a. Total internal reflection b. Total external reflection
c. Partial reflection d. None of the above

e. Answer not known

MAUTLD HewIeneId HaUJ OMTEIIILSBGLD, O6wNl6aIH6T LOleTaneUSHBELID SHTT6uTLD:
a. (1Ipp S erHomeiiiy b. apap um erFHOgTENLIL

C. UGT eaaGymeriii d. GuBapsiu ereneuujid Be0em6v

e. alewL G fluwalsdenev

Electricity and Magnetism

5. Assertion(A) : Some sea turtles (loggerhead turtles) return to their birth
beach many decades after they were born to nest and lay eggs.
Reason(R) : The turtles can perceive variations in magnetic parameters

of earth which memory helps them in returning to their homeland
a. (A) is true, (R) is false.
b. both (A) and (R) are true and (R) is the correct explanation of (A).
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c. (A) is false (R) is true.
d. Both (A) and (R) are true.
e. Answer not known.

gmml (A): Flov HL6L HEDIDDHET (6UTHTOABL. HL 6O LewiD) Siewal LIBbHSH
&L_BHengGuimyLd LI6V DLT(HBHEHHG L LIB&LD AUbHI
L emwL_ull B asletpent.

aryenrd (R): SMDFH6T  HEGBNH  LUIBhHS — FSLBHOIOUWS ST pslul

Ual&bSMho 2 (HLUHHHEL 6TenID (LPeHMenUIdH  6M85ULIT(ETHE 6TN360T.
Bhs mHeT LeGap @ miGeiled  HMHFHLIL6V6U6I DO
Henaialed  OHTET@HLD SBBEL o MLWme). BFH  Sien6
SNUSSHBSS SBHOUMSBG 2 S|SB
a. (A g, gpemev (R) sHeuml.
b. (A) wsp (R) Syewibd &f, Gweub (R) eeug (A) alBg Ffluwmer
e BLOTGLD.
c. (A saup, spemmev (R) &l
d. (A) wpp (R) @pewi &f, eemed (R) eaamug (A) olBg  gflwmer
a6 & BLD6LGVL.
e. alewL Ggfluwaledensv

Force, Motion and Energy

6. If a single nail pricks our body, it is very painful. How it is possible for the
people to lie down on a bed of nails and still remain unhurt?
a. Because the area of contact is the same.
b. Because the area of contact is less.
c. Because the area of contact is more.
d. None of the above
e. Answer not known.
fp opemll BOGH BHmendG Curgl suedenul o eurTaSGBID. emmed FleoT Syemill
LBSmBUTD LBSHSTAID DIUTHEHEHE 6HIHL LITSHLILD gBLBeudeveneoBul- 6rliuig?
gOleeied SIHeT OHTH LFLL FLoWb
JOleteied DIHeT OHTH LTI GHDMme
gOaialled SIHesT CHTH LTI DISHSHLD
. CuoBampiw 6151610606160
alewL G flualsensv

oo o

7. When you go for a ride in a merry-go-round in amusement parks, you will
experience an outward pull as merry-go-round rotates about the vertical axis.
The reason for this is.

a. Centrifugal force b. Centripetal force
c. Straight line force d. Circular force

e. Answer not known

CuTIHICUTSGL YhisTalsd GemL @I gaihdHed FBBIbCUTH, GemL SITL 196D
R CFmGHH SiFmFIUB Sped Gurgl, BTD @@ OeueNGHTESW  FHenguied
gBUBL Bpalemagamw o ewiTHCBID. HHBHTET SHTTE0ID 6157

a. oWl alevd@ alend b. ewww CEreE elena
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c. CrTCasT (b aleng d. swsd alog
e. alewL Ggfluwalsenev

BOTANY
The Cell - Basic Unit of Life

8. The element which is a constituent of chlorophyll and gives green colour to

the leaf of plant is:
a. Sodium b. Copper c. Potassium
d. Magnesium e. Answer not known

STUTHHI  BNeVH6T LFMF HIBOTE  QHLUUSBGS  SHTTEIOTH,  HT6UJTH5 60
LFMFLSFHe0 2 6iten o Geumssid:

a. Gzmguib b. smiyd c. Gum rLmdluwib
d. Quseiduwib e. alemL QFHfluialsvenev
Genetics

9. Recently we read in newspapers about the GM crops. What is the full form of

GM?
a. Genetically Marketed b. Genetically Modified
c. Green and Moisturous d. Globally Marketed

e. Answer not known

slewienouied BT CFWIFS srerseico GM uuljset @PsHs LSS HUIGUTLD.
GM eareimugesr alfleurdaid  eleireor?

a. oyuewl FHWTE FhHenSLLBHHHISH60 b. wyugm woTBEBILC L

C. LIGiGOLD LOBMID FFJLD d. o _evsenmalul FHedHLILIBSHHIH60
e. allewL  OFflwalsvenso
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UNIT - II - CURRENT EVENTS
Latest diary of events

10. The Nobel Prize (2019) for Economics has been awarded to Dr. Abhijit
Banerjee and two others for their experimental approach to:
a. Eradicate black money.
b. Strengthen the International Monetary Fund (IMF)
c. Eradicate gender bias at work place.
d. Alleviate global poverty
e. Answer not known
2019-su1b  SLemngest  QUTHeMTHTISHHMETenr Cphmusd ufla Dr. o1ieds umeyed
BOID  ShauhESG SlauIsandl b CoHjeutuiey SemiGwenpuller LTI (B
QUIDRISLUILIL L S1?
a. apIyl uewt LA
b. uestem (B UewT BHHWSHMSB QOB CFUIH60.
c. Gouemev GFLILD @)L Mmsefed UTede LTGUTL ML QLOGHSH60.

d. 2 _evsemmaiuwl eupienOeUW 0L BULGSSIHE0.
alewL G flualsvensv

Books and authors

11. The Tamil film “Asuran” is based on the acclaimed novel “Vekkai”. The
author of the novel “Vekkai” is:
a. Su. Venkatesan b. Konangi c. Poomani
d. Choodamani e. answer not known
S0bsH Hewgll LTl  ‘QIGETET  UBPouBB  ‘Oeubmas’ el LSS
SIQUILIDL WTHS OFBTeRILHTGW. ‘Coudbend’ 6aid LidHarshder oL lfluiy:
a. & OeumisBL e b. Gasmewimid) C. oo
d. @L e e. alenL OFfluielsvenev
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Unit - II1
Geography

Transport - Communication

12. The port of India which has quick access to Suez Canal is:
a. Mumbai b. Kochi c. Chennai
d. Kolkata e. Answer not known
GWerd  HTevauTenl GmBhdH CHIHPHe0 OCFSIBenLUD Blemeoulled DIEMLOHEHI6IT6N
BpbFwS SdBUPHID 617
a. (IpbemLl b. Q&rsd c. GFeienen d. QamevssHSHT
e. alemL GFfluialsdensn

Racial, linguistic groups and major tribes

13. In human races, which race is said to constitute “white people”?
a. Australoid Race b. Caucasoid Race
c. Mongoloid Race d. Negroid Race
e. Answer not known
eldH Demidberled 61hFH @D ‘ClaUGTENETWITHET  6laTLIAUTHMETSH BTN (HHHMBHI?
a. SOl FTeomuI(H Eeuid b. stssTUIG Bed
C. WhIGHTETUIH B)6ud d. s&ErmiE Send
e. alewL Ggfluwalsdenev

14. The largest tribal group in India is:

a. Nagas b. Todas c. Santhals
d. Gonds e. Answer not known

@hgHwreler sl GQuflu UPEIGY @ed :

a. [BTBHJH6I b. GxmLjmei C. FbBHEOBH6N
d. Gasmewiemer e. ol O flwalevenso
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Climate change

15. which of the following is responsible for the continental climate of North
India?
a. Vertical rays from the sun.
b. Slanting rays from the sun.
c. Its location away from seas
c. Its location on the plains
d. Answer not known
AL @bhFHwmaled Blevayld HeWIL HTeUHMEVSEG SLDHEWIL 61 SHTJOIOTS O 6iTengl?
GFwelL(phg CFhGHHH SHT aiFsH
GFwelL(pbhg FTUIe|SHHTaIFaH
BL 60BN (H allevd DIMLDbHHI6TEN BH6T DienLOAIL LD
. F100u6MN&6T FHTal BHT SienoaiL LD
alewL G fluialsvensv

© oo o

Rivers in India

16. The fast flowing river mouths have this landform:

a. Delta b. Estuary c. Alluvial Fan

d. Meander e. Answer not known

Gous WGHWLET uTWD BBIs SPWPSILGH ST @bbHevd CHTBmeHIHenears
QB T6wT(H6IT6TT6T:

a. GLeoLm b. QuTRIGID (1psHID C. euewiLeL alflgHiens

d. Opefwmrm) e. alenL OFHfluialsvenev
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UNIT - IV
History and culture of India

ANCIENT INDIA
Indus Valley Civilization

17. Which factor/s led to the emergence of towns in the Gangetic plains?
(i) Agricultural surplus
(ii) Growth of crafts

(iii) Growth of trade

iv) Growing Popul
a. (1) only b. (1) and (2) only c. (2) and (3) only
d. All the above e. Answer not known

BHIME FoOaleMuled HEIBIG6T CHTEIM HTTERIOTHIH/ e 615!/ 6Teneu?
(1) Geuermmewt o _Lifl

(i) waHOFHTIHe0H6M60T euerFd

(iil) eueidsHHH aueNTFH

(1v) QUBBECETETY[HHSH LHH6T CHTEND

a. (i) w @ b. (i) b (ii) ot B

c. (ii) wbmpib (iii) ' Gib d. GuBsvuleiienn SIMEIHHID

e. alenL OFfluialsvenso

MEDIEVAL INDIA
Characteristics of Indian culture

18. The rock cut shrines at Ellora and Elephanta belong to the period of:

a. Rashtrakutas b. Palas c. Sathavahanas

d. Chalukyas e. answer not known

6160G60MIT  LOBBID  TEIOILIGILT  GHWL 6UenTd GCHTUIGOHET 6TOUHEDL U  HTEVHMBF
FMIbFHeneu?

a. JTORMQTInL [JEH6IT b. umevyseir C. GTSHEUTHEI]H6IT

d. gmepsaSwse e. ol O flualsvenso

19. Who built the world famous “Khajuraho” temples?
a. Chalukyas b. Chandelas of Bundelkhand
c. Rashtrakutas d. Bahmini Sultans
e. Answer not known
© euall Useums ‘sunfeegmCant’ Csmaleosensnd S lguialyseT wmy?
a. FTEHSHWITH6I b. ubCamevmeni’  FHGHeUTH6I
C. JTORQTTnL [JH6IT d. umdel SeOHTeTHEI
e. alemL Oxflualsdensn

8]Page



South Indian History

20. Who hailed the Pandiyan kingdom as the richest and the most splendid
province in the world?
a. Ibn Battuta b. Marcopolo
c. Hiuen-Tsang d. Fa-Hien
e. Answer not known
uTewTouwl F& 2 _6u&HGBeuBw WHa D OFeL6uF CFIPINILL ID, DIBLISLOTET DIDEGL GDILD
BTGB UG 6160l LSIOTTID Gl lguleu] wimy?
a. @ e UL @BLT b. wrrs&GsTGuTGevr
C. UJOUTST &SGRl d. uraniuimest

e. alewL Ggflwalsdenev
Change and Continuity in the Socio-Cultural History of India

21. Which one of the following is not correct about buddha?
a. He did not mention about God.
b. His teachings are full of descriptions about God.
c. He did not accept inequality based on one’s birth.
d. He neither accepted nor denied the existence of God.
e. Answer not known
SIPSHBEWILUBMIeT LHSHmTl UBBul HeUBTeT FnBml 6157
a. 9] sLaemenl UK GBILLILalsvensv.
b. 9umeLw  CUTHMETEH6T DIMETHEHID HL A6  LBHIUI  6U(HEITEN 6T H N6
OBITEUTIQ(hHHSHE0T.
c. Uplifesr SiglitienLulleomest FOWMBB (LpedBMW SiAUT gBMISH6CET6TeNas06MEL.
d. o017 sLeefer SmlmL gBBIbCETeTeTalevame  LDXBIHEHHE|O0m6V.
e. alenL  OFflwailsoenev

Unit-V
INDIAN POLITY

Empowerment of women

22. According to “The Sexual Harassment of Women at workplace (Prevention,
Prohibition and Redressal) Act - 2013”7, sexual harassment includes:
(i)  Physical contact
(i) Making sexually colored remarks
(iii) Demanding sexual favors
(iv) Showing pornography
Which of the above is/are true?
a. (i) only b. (i) and (ii) only
c. (ii) and (iii) only d. all the above
e. answer not known
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uenlulLmiselled OLIEHISEHHE 6ISHTTr LTedwed SHISILBISHHE0 (HBLIL, SHevL LOBMID
&Jey) FULID 2013-Qe UL UTEVWIED HIGLBIHH60 6D CFT60 2 66 SHaluig):
(i) o Lwewd OsThHse0

(il) ouTFD H6VbsH T LIGLIFS

(iii) umelwed Gmhemeusemen HenBGUBMB EUBLIBISHHIHE

(iv) QuUTEl ULFRISM6NS ST (HFH60

GomsewiLauBmieT Ffluwimergl/ e 6%/ eleneu?

a. (i) (B b. (i) @b (ii) L G

c. (ii) ommio; (iii) oL (B d. CuBsmpPluw SimeTSHSHID

e. alemL GFfluialsdensn

Spirit of Federalism: Centre - State Relationships

23. Which of the following is not included in the concurrent list of the
constitution of India?
a. Education b. Forest c. Police d. Trade Unions

e. Answer not known

SLpHemi(heTeneuBmIeT 61%H @hHHW DTFUWEOMLILEF FULHHT OUTHIT LI I19uIedled
BL1b Gumpaiedensv?

a. &eLal b. eueid C. &HTeU6D d. OamiBsshishise

e. alenL G flualsvenso

24. Who among the following headed the committee established by the
government of Tamil Nadu to analyze and provide recommendations for
restructuring the Centre - State relations?

a. Dr. A. Lakshmanasamy b. Justice P. V. Rajamannar
c. Dr. P. Chandra Reddy d. Justice R.S. Sarkaria

e. Answer not known

SSTeIlILIGUaITH6N, SWOWDHTH DJHF WHHU OIHL 2 B H6T60  LOTHBBHIGENT
Cauiougl OFHTLIUTE Ui QFUIH, UFHSHIMIHT aUPHIGLD CUTHLB DIMDSHSD
GWIBE HEMeLMLD SHTHIBSIWIeUT WT?

a. (IPENSIAT 6].60FnRDETFTLO b. Bawyeuy L9.60.yTegL060TGTT

c. (wemeraly L.ghFrm Gl d. sHwgsy euJ.ererd.Fdbamlum

e. alenL O flualsvenso

25. In which of the following cases, the supreme court of India delivered a
landmark judgement regarding the use of article 356 of the constitution?
a. Indira Sawhney case b. S.R. Bommai case c. Minerva Mill case

d. Kesavanantha Bharathi case. ~ e. Answer not known
SrFwevemoliLF  FULSHer Ufley 356-n vwSUGSSHUEH OCHTLIUTS o &FF
BAHIWGBLD aUPmISUL 106 (PdHSHWGHSHIID auTulhEH SHILIL SDSHSTEDID 61HFH ULDPDHEHID

QULDBIGLUILIL L B1?
a. @pAHIT ag1ler 6PES b. eted. &yF. QUTDEMID EUIPSE;
c. Wereut 1060 aUDSHSG d. Caganenhs LTI 6uDHE

e. alewL Ggfluwalsdenev
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Local governments, Panchayat Raj

26. 1. Villages were classified according to size and mode of habitation in Jain
and Buddhist literature.
2. The religious orders founded by buddha and Mahavira observed highly
democratic procedures in arriving at decisions.
Which of the above statements is/are true?
a. (1) only b. (2) only c. both (1) and (2)
d. none of the above e. answer not known
1. et OBEMID LsHSH Bevdbalumiseiled HABpriTseT SleuBnlear Siene], eudiL gaer
SHeenD QLFlweuBMler DieliLenLufled aUeNSILGSHSLILIL L 6oT.
2. Ussy wBmIb wamsTaipgTed CamBmeldsiiul L gwow  OBBIS6T (LPYe Hener
ol _(houglev Gobul L MeIBTUWIS eU(LPenBHEneTs HenL LILlgg Heur.
a.1 W’ @Gw b.2 w’ @Gw c. 1 wBmb 2
d. GuBsewiL semalfeveney €. el O fuwealsvamev

27. The Gram Sabha meetings are held four times in a year. Which one of the
following is not among the four dates?
a. January 26 b. May 1 c. November 14

d. August 15 e. Answer not known

SHITD FUS Fnl L MIGB6T alOlum(h SewiB HTeld (W BHLSHHLILGSemer. H6Lp
CaTHSHSLILIL (HeTerneuBmIeT gl LD HeoL OB eUenTUWBISGSLILLTS BT6T 6157

a. seeufl 26 b.Gw 1 C. pHaubuim 14

d. eyseror. 15 e. alewL  Gxfluwalevemnsv

28. 1. “Panchayat Raj” is the most important revolutionary step in the context of
governance of rural India.
2. The foundation of “Panchayat Raj” was laid by our first prime minister Pt.
Jawaharlal Nehru at Nagaur in Rajasthan.
Which of the above statement/s is/are true?
a. (1) only
b. (2) only
c. Both (1) and (2)
d. None of the above
e. Answer not known
1. eaps @bsHwneler o FF G060 “LehaTwidhdl Jrel” el & (&Lt
UTL F&T [BLaUIQHNSBUITEGLD.
2. JUEeVSHTET  LOTHEVSHHEL o 6iTeMm  [BISFl60 [BIOFH (PH60 LIFHOJ  LiewwrgL
Malamfeored Gh(h DUTHENTe0 “UEhadTwHd Jrd” SIdWILIBSTRT  DigpdHSH6eNID

DIMIDSHBLILL_G.

BB smewt LB Fammisefled Fflwimengl/ el o1gl/ teneu?

a. (i) w @ b. (ii) wi G0 c. (i) b (ii)
d. GuBsemi_  senauuils0en6y e. alenL OFHfluialsvenev

Union, State and Union Territory
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29. Recently, the State of Jammu and Kashmir was bifurcated into:
a. Jammu & Kashmir as state and Ladakh as union Territory.
b. Ladakh as state and Jammu & Kashmir as union territory.
c. Both Jammu & Kashmir and Ladakh as states.
d. Both Jammu & Kashmir and Ladakh as union territories.
e. Answer not known
Slewieniouled, MIDLp h HTOJOT THevd GFewih UGHBenmall LNfledsiul L gl
jomou :
oID(p & HTOUST LOTHEVIDTHAD, 60LTH Qeiul QLEMTENEHEGL LI L LGHWTHALD.
GULMT& LOMHI6VLOTHAD, DL & HTOIUST QeTslul SLEHENBHGL UL L LIGHUWTHALD.
oip & SHTOJST 1OBEID 60LTH LUl ET6wNI(HLD  LDTHIGURIBETTSH]LD.
. by & SHTOUST BHBID OLTH B BFeniBld Bl SLEHENSHEGL UL L
L& H6MTHALD.
e. alewL Ggfluwaledensv

an o

Constitution of India

30. The first attempt at introducing a representative and popular element in
administration was made by:
a. Indian Councils Act 1892 b. Indian Councils Act 1919
c. Government of India Act 1935 d. Indian Councils Act 1909
e. answer not known
PIanasHdHed LUrgHpsHsHse oBoBId QUTEl 1éH&H6eT FThd Fnmpidemen SN(psd CFuIUD
WHev (WpwBFlwrs SuIBBLULLE FULID :
a. @bhIWS Heyedle0dHe FLULID 1892
b. @bdHws seeEdleoser FL1b 1919
C. @bhHw SPFTRGSF FLULLD 1935
d. @bdws saledleosel FLID 1909
e. alemL OzFlwaledensv

31. 1. The concept of welfare state had its origin in western Europe after the second
world war.
ii. the main idea of welfare state is that the government should not play any vital
role in human development.
Which of the above statements is/are true?
a. (i) only b. (ii) only c. Both (i) and (ii)
d. None of the above  e. Answer not known
1. LDBFHET [HV SIS 6IWID HHHSHTHHD @IWILTD o sl Curhd@l  Leer
GuoiE MGrmiumaled gBULL HTGLD.
1. w&s6eT B SPFST  (WPHSGTMDEF  FHHMA  GIILH  DFFTRISD NS
AUEMTFFUTG 61hSH @h (PHBH WL LBISmUD BB Tl TH CTOILSTGSLD.
GuoBseniL Fapmiseied Fllwneaig gl / eTeneu?
a. 1w B b. ii wl @ C.1ommib ii
d. GuBsemiL gD Bevenev e. allewL  OFMwaledenso
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Unit - VI - INDIAN ECONOMY
Nature of Indian economy

32. Which organization prepares the estimates on physical capital formation?
a. Central Statistical Organization b. Census Department
c. Planning Commission d. Finance Commission
e. Answer not known
LGLIOUITHET cpe0SHaIHmSH HITH OFuIuLD Sienoli] 6157
a. wsHHW Lemeuiuied Mmieueid b. wéE6iT OFHTMNBE HaTHOBBHLILIGS
C. HLEBGW d. pasEw e. alewL Gzflwalsdenso

Fiscal Policy and Monetary Policy

33. Match the list I with list Il and select the correct answer using the codes given

below
ListI List I1
A. Monetary policy 1. Bank rate
B. Fiscal policy 2. Margin money
C. Credit policy 3. Tax rate
a. A-2, B-3, C-1 b. A-1, B-3, C-2 c. A-3, B-1, C-2
d. A-3, B-2, C-1 e. answer not known
utiguwied I woppid -9 GQuTmss HC GaThaESLIUL (BeiTen gFflwimer alenL enul
Caijey GFuis.
U 1guied | U guied 11
A. vemid OBTeTeND 1. eumd aigd
B. glé Osmeiens 2. ®mF HleweoliLewID
C. sLe1 Oa®meiens 3. aufl al&lsid
a. A-2, B-3, C-1 b. A-1, B-3, C-2 c. A-3,B-1, C-2
d. A-3, B-2, C-1 e. alenL Oz fluwialsvenev

34. What is deflation?
1. Increase in the general price level.
2. Decrease in the general price level.
3. Stability in the general price level.
4.Both1and 3
a. (1) only b. (2) only c. (3) only d. (4) only
e. Answer not known
LIGOTGUTL L LD 6T6OIMBT60 616016017
1. Qurgl allemev WLLID DIFHSHMHH60.
2. Gurgl allewey L L LD G6emBSH6L.
3. Qurgl allenev WL LD IBTH(HHIH60.

4. 1 wBpL 3
a. (1) @b b. (2) w G c. (3) WL B
d. 4) w’ @Gw e. alemL O fluwailsvensv
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35. Which of the following is/are the objective/s of monetary policy?
1. Exchange rate stability
2. Price stability
3. Full employment
4. Economic growth.
a. (1) only b. (2) only
c. (2) and (4) only d. (1), (2), (3) and (4)
e. answer not known
BDHHMILaUBMIeT Lendbsmetensulesr Gprasd/ Chrohsmiser 6 / wimemeu?
(1) pleweowimenr LOTBERI al&HSHLD
(2) ailemev HleN6EVSFHETENLD
3) ww GeuemeveumuiLiL]
(4) QUTHEMTHTY  GUETTH S
a. (1) 1’ @G b. (2) i Gib
C. (2) wBEIDd (4) WG d. (1), (), 3) whpId (4)
e. allewL  OFflwalevensv

Land reforms and Agriculture

36. Which is/ are the objective/s of a sound “agricultural price policy”?
(i) To protect the farmers from exploitative practices of private traders.
(ii) To ensure fair prices for the produce of the farmers.
(iii) To ensure adequate and regular supply of agricultural commodities to
the wholesalers at reasonable prices.
a. (1) only b. (2) and (3) only
c. (1) and (2) only d. (1) and (3) only
e. Answer not known
augieITer Gouenmeitenio alenevd Gsmeitenadulen @GmaCsmeit/ st WiTgl/ wimtene?
(i) seflwn suenfsTseflen yawiLsosefsd Emba eleugTulsemeni LITHISTLILSI.
(1) eleusTuiseailen o BUSHH CUIHLSEHDHE HWTWIOTET alenew  AULPHIGIMS
o Mg GCFui%Hev.
(iii) pwrmworer  elemeouled OTshs euamlajsEpsd eleusmull  QLITHL Sen6r
Gurgiorenr Slenaleid, CFHTLIFFAWTSAID QIPHIGHMMSH 2 MmIH6CFUIS5H6.
a. (i) @b b. (ii) b (iii) ' (Hib
c. (i) wmpib (ii) L G d. (i) wmmid (iii) L B
e. allewL  OFflwalevensv

Reserve Bank of India

37. Which one of the following is a non-banking financial institution?
a. State Bank of India b. Central Bank
c. Life Insurance Corporation of India d. Indian Bank
e. Answer not known
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SpHHENILBNBe0 UmIdS DieLeUTH HIF HimleueId 61gl?

a. @bsHw 6Ll eumid b. enww eumki&

C. bW ulell ST B HLOSLD d. @pFuwier eumid)
e. alewL  OFflwalsdensv

38. The Cash Reserve Ratio is fixed by:
a. Reserve Bank of India b. Canara Bank
c. State Bank of India d. World Bank
e. Answer not known
Qprés @iy aldHHemnd Hitewid OFulagi:
a. @bHw faTel eumid b. semm eumid
C. ®bFHw aOBLL eubI) d. 2 s amd
e. alowL  OFFlwals0ensv

39. Putting money directly into the bank accounts of the poor through measures
like “Jan Dhan Yojana” results in:
a. Depletion of scarce resources.
b. Demand revival and economic growth through “multiplier effect”.
c. Increasing corruption.
d. Maximizing government and minimizing governance.
e. Answer not known.
“oaaigel  SHLD” GUTSIB  HLeagHmBHeTa autuleord CoIQUITE  eJenipder 6
AURIBHD BHMIHGHHB6IMEL LewiSHHmenF OFesHIHIad HBG UHeUGHEGHWD?
a. oIflHTen eueTmIB6T GHewmbH CUTUHBSE).
b. Qumss almerals amuleons GHeweal DGR _(HAUTHSID OBBID  CUIT(HETTHT]Y
auenI&Fd gmuUBHUSBSE.
oape0 DIGHBFIILISBS.
d. oiFs Seneleoner  QIFTRIBIPD,  GOBHS  TAITRT  SLEHENBUILD
IBUGAISHES .
e. alemL G flualevenev
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Unit - VII
Indian National Movement

National renaissance

40. Which one of the following governors of madras presidency gave attention to
education and regarded any expenditure on it as an investment for whom a
statue was erected at Chennai in 1839 by public subscription?

a. John Erskine b. James Thompson
c. Thomas Manro d. Arthur Havelock

e. Answer not known

SPHFHTaID  OFcienel  LOTHTEWT  LEHHIH6ID  Hevald@  (PHSHUISHHIAILD
INSHHIL T  SBHTHT  OFeVAIDRIBMET  (PHEOLTHSH — SHGHUW  e(H6Ufl6or
BlemereuTdsll  GUISHIDSSH6T — aupmSwl B Heowids O@mewiy  1939-sib 6w
CFaiemeuied Flemev HmeulILIL L &7

a. SQmelT 6TT6rOas 6o b. Gmiberd mIDLIGNGIT

C. ST  1DGSTEMT d. ouisy Gameieurd

e. alenL OFfluialsvenso

Communalism and partition

41. When was the first time that the British used “Commonwealth” instead of the
usual “British Empire”?
a. During Cabinet Mission b. During Simon Commission
c. During Cripps Mission d. During Mount George Commission
e. Answer not known
SRIHL OIIFG aUPSHSOTHL UWaLUGSHSHID ‘Ufilyad Cuigs’ aeausBGL LSHeoTs
‘BTIDT06U60S  6TamIlD OFT60m6eV ST (LPH6 (LPG&H6e0TSL LIWGTLIHSHSH IS ?
a. OIMDFFTN6N HITHISES(WaleT CUTIS
b. enawe @Gupalet GUITIYSI
c. &fllerd HrHd Gupalsar QUTIPSI
d. weyewn’ omrTey Grpeler GQUITIDSI
e. alenL  OFflwailsvenev

Different modes of Agitation: Growth of Satyagraha and Militant
Movements

42. What was the first challenge in the political sphere faced by the “Women’s
India Association”?

a. Right to property b. Right to Education c. Right to re-marriage
d. Right to Vote e. Answer not known

“@hHu OIS DML STFUD HNMHH60 FHHHD (PHL FeuTeD 617
a. QarHgIflenio b. seval 2o _Flenio

C. omIoemTd Lflujib o flenio d. auns@fenio

e. allewL  OFflwalevensv
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43. 1. The British had to appease the Indian nationalists and the outcome was the
passage of the government of India Act - 1935.
2. This act provided for greater power to the local governments and the
introduction of direct elections in 1937
Which of the above statement/s is/are true?
a. (1) only b. (2) only c. Both (1) and (2)
d. None of the above e. Answer not known
1. omaGowiseEndsd Db Carflwamgdisamer HHUFHLUGSHS GCouemngul Hlenev
IBULLG. 9IH6T OQeueiLm@GL 1935-sulb Siewngent DbHHUI DIFFTHIGE FLLIDTGLD.
2. ®@FFLID, 2 6ol & SIFHEHdHE DHS AHBMID eupmSWCHTH, 1937-9ub
aetge0 CoIsS CHThemeould DISI(PSD CFUISHI.
a. 1 (B b. 2 wl G c. 1 oBmib 2
d. GuBEemsi  seneuuils0en6D e. alenL OFHfluialsvenev

Early uprising against British rule

44. To create a class of people “Indian in blood and colour, but English in taste,
opinion, morals and intellect” was the intention of:
a. T. B. Macaulay b. Hanry Vivian Derozio

c. H.S. Olcott d. Raja Ram Mohan Roy

e. Answer not known

“BI535IVID PBSHWID BBAWTTSD, JFmeuied, BBSH0, @pHa6BNlsaisD,
ofaled RFHCowITead HESGD @ WwHHeT  Llflaleaem] o (HeuTdh@EHe0
GouewiBd” 61etiB CHTHBHMBDH OBTERIL 6T :

a. 19.19.6&5 51860 b. Gamey elalwer GLGrrdl@uim

Cc. Gam&.ere10. SLEOBML d. @yregmymib Guomesest Ul

e. alenL O flualsvenso

Emergence of leaders

45. Identify the reason why mahatma Gandhi went on a fast unto death at Poona in
1932.
a. Failure of the Second Round Table Conference
b. Issue of Communal Award.
c. Refusal of Viceroy to commute death sentence of Chittagong Armoury raiders.
d. Government’s refusal to release political prisoners.
e. Answer not know.
1932 oub Sewih Uemaled SThHHWIGH6T FTGHD eueny 2o euienimalysd GoBolsmerend
FHMIeOILD 61HI0Cl66TE & 6001 (H 60T,
a. @rewiLmeugdl eul L Gweng ompTL Qe GHmeval
b. ey eurfl o Menio Geueui i’ L gl
C. FlLamh HUSHHILEIG DSBTOIUTOTTSEHHEG alHHSUILLL  OF6wT  HeuTL D6Tenl
ol Uygihdl @mpss OBISSI.
d. opfuwed masHasmen alBHmer CFUIL & OBIGHSHSI.
e. alewL OFflwalsvensv
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UNIT- VIII
History, Culture, Heritage and Socio - Political Movements in Tamil Nadu

Tamil Literature from Sangam age till contemporary times

46. Jaina influence is strong in early Tamil literature. Which one of the following
is not a Jaina work?
a. Naaladiyar b. Pazhamozhi
c. Jivakachinthamani d. Manimekalai

e. answer not known

UDRISTE0S SHOD BevdbdHUIsHIHe0 FLoewl FIOWSHHET HTHHD IVIAITS 2 6T6Ng).
BIPEHBHEWIL_BMIGT FLOWT DEVHHIUILD DIGLVTHFH! 61&H17

a. [BITGOIQUIT b. G c. Fous b mioewni

C. wenlGLsemev e. alewL Ggfluwalsdenev

47. To which period the great literacy works of “Kamba Ramayanam” and
“Periyapuranam” belong?
a. Chalukyas b. Vijayanagar empire c. Later Cholas
d. Pandyas e. Answer not known
QuEBD @SB UL LILSH6NTeT  ‘SUFTIOTWeRTD’  wBmid  ‘GQuiflwiyyremnrd’
B 6l BTEVBL L SHMBF FhHeneu?
a. STEHSHEILITHET b. elmwpsyt Cuyras c. LUBared GFmipjsmer
d. umemnguIyes6iT e. alewL O flwalevenso

48. What is the second line of the verse from Purananooru that begins as follows?
“Yadhum Oore Yavarum Kelir”

(The world is my country, all countrymen my kindred)
a. “Theethum Nandrum Pirar Thara Varra”
(Boon or bane does not come from others)
b. “Undi Koduthor Uyir Koduthore!”
(One who deeds gives life)
c. “Unbadhu Naazhi, Uduppana Irande”
(For eating a measure, for dressing just two)
d. “Thuippom enine thappuna palave”.
(If savored alone, much is lost)
‘wrgd om@r wreumd CsellT” — 6ldh OCHTLMIGD LUBBHTETBBICILITL 6060t
SrewiLTeugdl Sig 6157
a. HSHID BAWID LIBTSHT 6umym
. 2 _awig OaThHCaHTT o2 _ulit CarhdhCasTCr
o ewiLgl BTY o (Briver @yewGL
SUINGUTD etelGent Hlijeor LivGeu
allenL GHTwealevenev

o an o

49. The message related in the Purananooru verse
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“Yaanai pukka pulam pola,

Thanum unnaan; ulagamum kedume....”

(As the elephant destroys the field, so does the king’s taxes does not benefit
himself and destroys the world).

1. Tax abolition

2. Reduction of tax.

3. Regulating tax collection methodology

4. Tax evasion

a. 1 only b. 2 and 3 only c.1and 2 only
d. 3 only e. answer not known

“wrement L Ljev GuImev

SHTOID 2 _6uTemimedl; 2 6B GBHHEW” — 6D UBBHTEMMBIL LUTL6D 2 60lTHIHID
B[S

1. auflewws @USHH6L

2. aufldb@emmLiL]

3. aufl U@GHIEGID (LpewmenUl QLMHIGHLBHHIFH6ED

4. eufl euiliy

a. 1 wl (b b. 2 wBmp 3 WL G

c. 1 Bmub 2 il Hb d. 3 w @

e. alemL G flwalsvenev

50. Which is the grammatical literature pioneered by “tholkappiyam”?

a. Thirukkural b. Moodhurai c. Nannool
d. Neethi Venbaa e. Answer not known

CBTLSTINWLSI T aUPBETeOTE alleNhIGD E60sHEH6mI HIT6D 61517

a. FHmbSGmer b. epgieny C. [HEITEITED
d. B8 Geuewuim e. alewL OFflwalevensv

51. 1. Dharma, Atharma, Kaama and Moksha are the four-fold classification of
Indian Philosophy.
2. Tholkappiyan and Sangam literature speak only the first three.
Which of the above statement/s is/are correct?
a. (1) only b. (2) only c. (1) and (2)
d. none of the above e. answer not known
1. ST, SIHTOW, ST, GT b 6B BTG 6aIeNd LUTGUTLmL &bHuid
SHHBlaUmiBen GBI BaeT360T.
1i. CO&HTEOSTIIWID IOBBID FHiS EEVHHUIBIBET (LPHeL cLpeTHl alendHHemeT Lol (BB

SN (BB eTB60T.

CuBsTanid FmBmisefed Fflwimas /el oigl / eTeneu?

a. i (B b. ii 1o @b C.1ommid ii
d. GuBEemi slenalud |66V e. alenL O fuwelsvenev
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Thirukkural

B2, Y are the
Eyes of all human beings”
In the above Thirukkural, which one of the below are identified by
Thiruvalluvar as the eyes of all human beings:

a. virtue and wealth b. impartiality and self-control
c. wealth and love d. numbers and letters e. Answer not known
« uisiel e BLD

HenTolewieiL eum() (pulTed@”
GuoBsTamId H(HBSGHMBeM60 6clenal STewienl.  H(HoUeTEhaUT HeWIHEHHEGG QLIUTHS

S BISDBTT?
a. 9B Om(HEHLD b. BB6] BeneLMOUID DL H(LPEHL MLOUILD
C. OQummpeph ST d. erewigmid 61(1pSHHID e. alewL GFflwealsdensv

53. “Dare to do a thing ..........
............ it is shameful to say”
As per the above Thirukkural, how should we enter an action?
a. After accumulating enormous wealth b. After charity
c. After a mature thought d. At an appropriate time
e. Answer not known
y Slewld SHIOD  HlewilhHHLI6n

&Il H(WHSH*
aeleuTml @(h GFweded FHUL Geuewi(Bld etedr  SHlheusiiemeuT Gmanmlul  Gmere0
DI BISSISBTT?
a. pepwll GurmeT GFTHs LIBE b. srend QFuis LIBG
C. pABTHEF FHHHH DSBS LIBG d. 3855 smeoBihHe

e. alewL G fwalsdensv

54. “Speak out your speech, when once ‘tis past dispute
That none can utter speech that shall your speech refute.”
What does Thiruvalluvar mean by “that shall your speech”?
a. A synonym of the word used by you.
b. A substitute word.
c. A translated word for the word used by you.
d. That word of yours which cannot be won by others.
e. answer not known
“Oameoand OFmevemevll LINICHTTOFTEL SHIFOIFTELM60
CaUeLEVIEHOFTEL B)&TenID DINSIHSHI”
- “91F0FTe0mEL” 616 SHl(HeuaTEhaUT 2 LIS 6160 ?
a. BhseT uweaLbGSSHw ummeied Geubmmm Glamed
b. Gamevenid@ wIBBTE GauBIGFTed
C. BRIF6T LWaLBGSHHW CFmeoasE Coaupmibomps GFmed
d. BBaITEenTed Galedev (IPIQUITH 2 HIBEHML U GCIFTe0
e. alewL OFMwalsdensy
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55. “........ if they fail to control it, their words will lose weight and sorrow and
grief will overwhelm them”.
In the above Thirukkural, Thiruvalluvar emphasizes the importance to
control one’s tongue. According to him, this is applicable to:
a. The wealthy b. The Poor
c. The Good human beings d. Everyone
e. Answer not known

¢ BTHTHD BTOUTHHTEV

GamamiuT G&TevellpasELl Ul B

Guopampiw FHlhEGmeiled SHl(hHeusTEpheuT BTl HHHMS LBB SBISBTT - ELILIGL
eTOU(HBGLI GUTHHGEHID?

a. OUTHET 2 6L We(HHSE b. Gummer SIBCBT(HBS
C. BHevBeVT(HBE; d. smaraumao@D
e. alemL OFHMuwalsvensv

56. “Incomings may be scant; but yet, no failure there,
If in expenditure you rightly learn to spare”.
What do you infer from the above?
a. Work hard to increase your income.
b. Though income is limited, one can live without any misery, if the
outflow regardless of your income.
c. Completely restrict the outflow regardless of your income.
d. Increase both the income and the outflow.
e. Answer not known
“ousm penaillly sSrulam Gsigevenev
Guirem m&HeTdH HewL
- GuBasTanild @mefled BmHbH HalT Sisleug wrg?
a. augemalll CQUHSGHMUSHBEGHS HIQIOTES © mpdhs Geuewr(BLD.
b. QFevemeus seuaons GeUTawiend GFUIHTE QITE| HMMBAITITEID 6lelalH
SHIGBTL(PLOGITN GUTLD  (LPIQULD.
C. auJey a1HFHMBWHTUIID OFevalel GLIHEHHMSB (PIPMLWITHS S BLILIBGSHHIS.
d. agey, OFeve ByevienLujb HFHBMHHIE Cdmeren Geest(HLD.
e. alemL Oxflwailsoenev

57. Match the following;:

A. Need to encounter with
all the rest is nothing but trash to him” cheerful face
ii. “when trouble comes ........... B. Knowing the fittest time
iii. “like the stork or crane with folded C. learning
WINGS ..o, "
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i ii 1ii
a. A B C
b. B C A
C. C A B
d. C B A
e. answer not known

SpdHaTeniLieuBenBL CUT([HSHHIS:
i A. Beapad8HTH eHTeE 6T

LOTL 606V  LoBmwleney”  Geuewiigul ojeudluib

ii. “©BHBHMI QUHBRIBTEL B. sfwmenr gpasmiun opibal
" QFWIEOLIBHED
iil. “Oan1H0®ETHE FnlbLD C. seval &mBB6eL
i ii iii
a. A B C
b. B C A
C. C A B
d C B A
e. allewL  OFflwealedenso

58. “tOUSe .ioiiiiii is to
Make choice of unripe fruits to ripe fruits”.
In the above Thirukkural, according to Thiruvalluvar, which one, when
spoken is equivalent to choosing unripe to ripe fruits?
a. Truth instead of falsity.
b. Rebirth instead of the sweet words.
c. Bitter words instead of sweet words.
d. Talking about arrogance instead of humility.
e. Answer not known.
“ FnB6V
SeulpLILS STUISTH HBMI"
Ba@meie0  FHmaueTepalT “clendd Fmpleugdl”  salulmpes@Gd  BCurgdl  sTeduIs
SalTUHBE QLILTGLD 6TeTdHmmT?
a. o euiewloul(heball GUITUIEHILD FnmeD
b. @emio BHHs WBEND LUBKS Fnped
C. Balwemal BHbH DOTOTHH FnBeL
d. oI saWLmDEGI UHeoTd S dsilaenn LBl Guaiaig
e. alewL OFHfuwalsvensv
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History of Tamil Society, related Archaeological discoveries

59. Assertion (A) : Karikala Cholan was distinguished as “Ponnikku Karai
Kanda Bhoopathi”
Reason (R) : The stone construction named Kallanai, a masterpiece in

water management fitted with water canals was constructed by Karikalan.

a. (A) is true, but (R) is false.

b. Both (A) & (R) are true; and (R) is the correct explanation of (A).

c. (A) and (R) are true.

d. (A) is false, but (R) is true.

e. Answer not known.

aBm  (A):  “Outeielsgs sy  sewiL LyudH  eer  sflamed  Gamipest

FBUNSSLGSIDITT.

sryenoid (R) : meny OpBILLGSSID UTUISSTEOH6NMTeL Benentohalill L SHmedBhd

BHMBBHL_HLOTEIOTHIU  H606VENeNT SHiflBTEVaTTeL &L L UL L G|

a. (A) #f spemed (R) seum

b. (A) wspd (R) @yewign M. Gweubd (R) eewug (A) alBgs sfwmer
a6 &BLOTG)LD.

c. (A) wBpd (R) Syewibd sHeus)

d. (A) saup semed (R) &

e. alemL G flwalsvenev

60. Match correctly the excavated things with their corresponding excavation

sites.
i. Golden Foils 1. Thirukkampuliyur
ii. “Rouletted” potteries made in Rome 2. Aadhichanallur
iii. Sun & Natural Objects 3. Vadamangal
iv. Fort Wall (Compound Wall) 4. Uraiyur
that is 3000 years old
i ii i iv
a 3 4 1 2
b. 2 4 1 3
C. 4 2 1 3
d 1 4 3 2
e Answer not known
BB CBTHHBUILIL[H6lTen HenIBHLIQLILIHENET DIFHeT 6MTH@EHL 6 ST TLLIHSHIHIH:
1. SHRIBILL L BIGH6IT 1. FHHSHSTDLEIIWT
1. Ggmomyflufed Gauiuwnun’ L
OFemeVL L L 6IeDILD  LDEWITLITGHOTL_MISGIT 2. LHEFFHELKTIT
1. @fwer LoBpID BUIBME 2 (HeURIH6N 3. GULLDBIGHED
iv. 3000 oewIBE6T LIpewID ITUIHS FBBIFFHGUT 4. o BT
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i
a. 3 4 1 2
b. 2 4 1 3
c. 4 2 1 3
d 1 4 3 2
e. alenL O Mwalsvensv
61. The graffiti symbols of Keeladi are similar to which one of the following
civilizations?
a. Sumerian Civilization b. Nile River Civilization
c. Indus Valley Civilization d. Yellow River Civilization

e. Answer not known
Spuier dpeoset /[ GBuihser Waeumd 6bhsh BrafasCasTh  @UGCHTHSE

FnlgUIn6)?
a. a&Guflw prefsd b. enped B BTHMASID
C. gl Fbeue BTSMHLD d. wehgem BFH HIHMBID

e. alewL  OFHfwalsvenso

62. The carbon samples collected by the department of archaeology, government
of Tamil Nadu from the excavations of Keeladi after having been analyzed
indicate that all the six samples fall between:

a. 2nd century BCE and 2 century CE

b. 6th century BCE and 34 century BCE

c. 4th century BCE and 6th century CE

d. 3 century BCE and 5t century CE

e. Answer not known

s  opeutuialer  Gurgl SHOWHETH  oder  OHTeLIWD  FHIEHBUITED
Crafedsiu’ L sfio  wrHfser, uGluTuie CaFUIWILLL Hed DeuBplealr HTeold
agloeuar SPwliLGEpEH?

a. &.up. DIWILTD BHIBBTWIH (LpHe0 &L, @JewiLmMD HIBBTENIH 6UD]

b. &.ap. SuBTD BIBBIEHIG (PH6O &.(1p. CLPGIBTD HIBBTEIH U]

C. &.(p. HIGISTD HIBBTHIH (PHeL H.LI. SUBTD HIBBTERIH 6UD]T

d. &.p. ewemmd BHIBBTEH (WHO H.L1. WHSTD HIBBTEHIG eUeD]T

e. alewL G fwalsdensv

63. Assertion (A) : In the contemporary society, some people are tempted
towards “hero worship”. This is not a healthy trend.
Reason (B) : Rapid urbanization creates a sense of being rootless. This

in turn creates a longingness “to belong somewhere / to somebody”.
Therefore, some people are attracted towards the heroes. It induces a blind
following and there by inhibits a critical thinking of one’s own socio-
economic problems.
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a. (A) is true (R) is false.
b. Both (A) and (R) are true and (R) is the correct explanation of (A).
c. (A) is false, (R) is true.
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
e. Answer not known.
aBp (A): Qaedpwl  FWsTWHHed  AeoT  BTws  euflumien”  CrrHd
FTSSILGHBTTH6T. & b UCyrddlwiorer CUTHE SieL6v.
sryenid (R): o1fBus paywwIOTSESsd Foomdd iaTser Shisers Ceursemern
Qs Cutan  @®k 2 oueimar  ghuGSBIEDS. B3
BHImaW  BUTHalLD FHThSeT gCahamid e SLHmsGwr  pusmyGuim”
gnibFH(hdH®d CeuewiBd 6B gHEHHMSH GgBLUBHHIHBH. TGoug HTerr, EeuTH6l
Usboums  welsTeemen  CEréHs  FisslLGHIBIT. DB DbH  BTLSTHEM6N
SHMICPIYSHHEIOTHL LISuBpielens 2ash@GHallILgHTe0, DIUTHT SHhISEHML U Feps,
QuTmenTHTIL  LIpFFmenseT GNsHH SHpemulayl yTelors ShHHGn  Hpener
UINIPSHHEF CFUISBSI.

a. (A) afl, spemmed (R) seum

b. (A) wppid (R) @yewiw &M, Gweud (R) eeiug (A)-alBg sfwrer alendasid

c. (A) soum spemed (R) &

d. (A) wpmpw (R) &M, eemmed I ereiug (R)-albe aflwmer aflendgasiosd

e. aleL O fluwalsvenev

Self-Respect Movement

64. Which one of the following is not the journal that carried on the effective
propaganda of self-respect ideals?
a. Kudiarasu b. Revolt c. Swathesa Mithran

d. Viduthalai e. Answer not known.

SpdbaTanid BTCMBHeNeL SwfwTmdd SHHBHIGHemeN  Fpliumer  (wenpuied
ugligeny Geuwiwrg BTCen® 61g?

a. GlQuIyd b. yy & c. &@xpa105H 6w

d. alBsmev e. alewL OFflwaisvensv
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Unit - IX

Social Justice and Social Harmony as the Cornerstones of Socio -Economic
development

65. 1. Individuals should receive respect and reputation on the basis of their
achievements and talents. It should not be on the basis of their social
identities.

2. Inequalities and discriminatory practices which prevail in the society are
artificial and are known as prejudices.

Which of the above statement/s is/are true?

a. (1) only b. (2) only c. Both (1) and (2)

d. None of the above e. Answer not known

1. el BUTH6T SHRIBENH FTHMOIH6T BHID Hmennseer SiglitienL ulGeoBul
BSOS LBBID BEHOUWIL  CuBGETIGL. DIH  FpS  DiENL WLITEHISE6T
SIQLILeNLUled G(HHdHH Fnl THI.

2. FUPSHTWSHH0 Hlevald GBMSHBTIDHET OBMID  LTTLL FLOTE  [HDL (LPenBEH6IT
CFWBMSWITETENG.  DIEDEY, O 6WINDIDHENET  HLITUIEH  BHTJTETSHHTE0  6I(LPLD
SHLICLIGTTETRIGBET 6Te0T SIS ILIHE 6STmB60T.

BB smemI LB Fammiseied Fflwimengl/ e 61gl/ eleneu?

a. (1) L @w b. (2) wlGw c. (1) wmpib (2)

d. GuBsewiL senaiu|bleoeney d. alewL Gxfwealsdenso

Political parties and Welfare schemes for various sections of people

66. Match the marriage assistance schemes of the government of Tamil Nadu
with the respective names given to each scheme:

Scheme Name
A. Marriage assistance for poor girls 1. Annai Terasa
B. Widow re-marriage assistance 2. Muthulakshmi Ammaiyar
C. Marriage assistance for orphan girls 3. Dharmambal Ammaiyar
D. Inter-caste marriage assistance 4. Moovalur Ramamirtham
Ammaiyar
A B CcC D
a 4 3 1 2
b 2 1 3 4
C 1 2 4 3
d 3 ! 2 1
e.  Answer not known

&0 CETheHSUILIL (HelTen HLOWS DFFlel H(Hoew 2 Haldh FHI L miGHmeT HaBBIBG
GL LU (Beiten QuwiTaGenm(®  CUT(HHSHALD:

SILLLD QUi
A. gl QuenideT Hpoew 2 Haildh H LD 1. Sieener QBT
B. algman mioemrs &L 1D 2. (PHGBIe0L GO IDEDLOWITT

C. azrauBml CLeTsEndbESTen ) (HLo6wT
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2 Halgdh FHILLID 3. SHITOTDUTET  SILDEDLOWITT
D. ggnd) omiigg SHmwoemr o Hald HiL b 4. CLPGUGVITIT @ gmomoiTsD

S|LD6MLOUITIT
A B C D
a. 4 3 1 2
b. 2 1 3 4
c. 1 2 4 3
d 3 4 2 1
e. allewl  OFHfluwialedensv
67. Which of the following pair is correctly matched?
Scheme Chief Minister
a. Noon Meal Scheme 1. ]. Jayalalitha
b. Cradle Baby Scheme 2. K. Kamaraj
c. Samathuvapuram 3. C. N. Annadurai
d. Nutritious Meal Scheme 4. M. G. Ramachandran
S1pHBewILauBmie Fllwmsll QuUTHSSUILL (HelTem Eenewt 6117
SHILLLD (LPSH6VEMLOF FT
a. bHw 2 _ewie)d SHLID 1. 0. OuievelHT
b. QxT 1960 GHmEH H LD 2. &. SIDJTY
C. FHHIILD 3. SI.[b. S|6U01600TTSHIGN]
d. sdhgiemie)s HiLib 4. 0.Gxam. OITOEFFHET6T

e. alewL OFflwalsensy

68. In the 1962 elections, the Dravida Munnetra Kalagam (DMK) was supported
by Swatantra party. Who was the head of the latter party at that time?
a. E.V.K. Sampath b. C. Rajapalachari
c. K. Kamaraj d. Omanthoor Ramasamy
e. Answer not known
1962-su1b  Sewihd CHTHeICUTSHI, Hmall (WGBS HPBHMDH FHHHTTH
s eHfHHal. DIOUTIRSH SSHHHITH &L Fulem Hmeveusnsds G HbHeuT uwimr?
a. .Oeudl. Fbug b. #. @yremGsrumeordFam
C. &. HTOJTR d. g@ubsnT @ymogmd
e. alemL OFflwalsdenso

69. Which Chief Minister introduced the Mid-Day Meal Scheme in independent

India?
a. N.T. Rama Rao b. V.S. Achuthananthan
c. M.G. Ramachandran d. K. Kamaraj

e. Answer not known
&HHIHT BbHwmailed WFHL 2 aue|d FLHDS WWPSILIGSSH L (PHEOGDLOE ST

wIr?
a. 6lellly. @MLOMJTeY b. ail.ererd. ©iFaBHTenIHI 6
c. .GxM. BITOFFHA 6T d. . smoyrey

e. alemL G Mualevenso
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Role and impact of social welfare schemes in the Socio-economic development
of Tamil Nadu

70. The aim of the “cradle baby scheme” of the government of Tamil Nadu is:
a. To promote mother-feeding
b. To ensure delivery of babies at hospitals.
c. To provide immunization to infants.
d. To eradicate female infanticide.
e. Answer not known.
SOs Pfer OHT 1960 GWHmBHDH HI L SHH T CHToHsLD:
a. STUWNUTEL o6l (Heuend 261 EH e HH3H60
b. wmHsameanseied @WhHmPIGLE HoHDalmsd 2 Mg CFUIgHe0
C. FasmEpddTa CHTUISHBLIL (LHEDBHEN6N  GULPKIGHEH60
d. Quewt Had CBTEEVHMET PLOHHE0
e. alewL G fwalsdensv

71. The telephone number allotted for 24 hour “Women Helpline” in Tamil Nadu
for immediate and emergency response to women affected by violence is:
a. 108 b. 181 c. 888 d. 208

e. answer not known

SLODBTL 1960 QUGHT(LPENBUITED LTHSHBLILBLD OLIemisehsE 24 wewnll CHI(PD 2 L 6y
SFy 2 Hal alphis allfl aumd CFuiud 0xTmeBud o FHaldh FH L HHBHTH
RBHIHBLILIL(heiTern  CFHTeneoGLIF]  6T6mT:

a. 108 b. 181 c. 888 d. 208

e. alemL O flualsvenso

Geography of Tamil Nadu and its impact on Economic growth

72. Assertion (A)  : Agriculture continues to be the largest employer in Tamil
Nadu.
Reason (R) : Non-agriculture sectors are yet to generate enough

employment to effect a shift of labour force.
a. (A) is true. But (R) is false.
b. both (a) and (R) are true and (R) is the correct explanation of (A).
c. (A) is false. But (R) is true.
d. both (A) and (R) are true. But (R) is not the correct explanation of (A).
e. Answer not known
&Bm (A) : slipssHdesd alausmuBo SiFs HLTSHEHHE Geueneveumiiliiener
QUPRISSH  QBHTERIY (HEHBBSI.
smyend (R): e _ewpliumeniiser sHuisens CsTifleosmen LIBBYS CHTeTUSBED
Cxremauwimesr  SlenalBEG — GeuemeveuTuIliBenem  @IeUFTUILDEOEVTS
SHIMBHET 2 (HEUTHSHLOGLEMEL
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a. (A) sfl gemed (R) seum

b. (A) wsBpw (R) @rewib &M, Goeubd (R) eeug (R)-alBe afwmer
e BTG LD.

c. (A) saump spemed (R) &

d. (A) wpp (R) @yewibw &M, ewemed (R) eeiug (A) - ol sflwmen
al61TE B LOGVGV.

e. alewL G flwailsdenev

73. Which of the following pair is correctly matched?

City/Town Industry
a. Ranipet 1. Leather
b. Namakkal 2. Fireworks
c. Erode 3. Poultry Farms
d. Sivakasi 4. Power Looms

e. Answer Not Known
SLDSHHEWILUBDIGT 61hH Bemewnr FMWTHL QUTHSSHUILL BeiTengi?

LOMBBID /  HBJLD QBMABFTEN6L
a. @ymenlliGulenL 1. Gzmev
b. BmD&H®H60 2. Ul L&
c. mGyn® 3. GamALl LiewTeneunTas6lT
d. feusnd 4. 106318

e. alemL OFHfwalevenso

74. Identify the place in Tamil Nadu where mangrove forest is absent:

a. Pitchavaram b. Kodiakkarai c. Vedaranyam
d. Mamallapuram e. Answer not known
SODBTL 1960 FHILILHeVSH STHH6T DMLWICLBTSH Bl H H DIENLUIT6NLD HT6wIH:
a. U&ameuyid b. Gamouibsemiy C. Geugmyemrwid
d. wmoeveOLTID e. alewl O flwalevenso
GK

75. Which one of the following is not aim of ‘Digital India’?
a. Paperless governance b. Person less governance
c. Encouraging intermediaries d. Cashless governance
e. Answer not known
SIPHEWILQUBBIGT 61FH ‘19 L 60 @bHwT -aller CrTéHsd Hievev?
a. BTHBID BeLeVTH SLETHEND b. walsiser SeveoTsh SLEHemD
C. DML SHHTHTHMET 26165 H60 d. uennfleveors SEHMS
e. alewL Gy fluwalsdenev
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Unit - X
Logical Reasoning

76. If P denotes +, Q denotes -, R denotes X and S denotes +, which of the
following statement is correct
a. 36R4S8Q7P4 =10 b. 16R12P4957Q9 = 200
c. 32S8R9 = 160Q12R12 d. SR8P8S8Q8 = 57
e. Answer not known
P aeiiugy +, Q eteiug -, R eteimugy X ioBmid S e16diigy + eTediled &1 60T auisle0
oigl Fiwmet gamml?

a.36 R458Q7P4=10 b.16 R12P49S7 Q9 =200
c.32S58R9=160Q12R 12 d.8R8P8S8Q8=57
e. alewL  OFHflwalsvenso
77. Choose the best alternative of white: peace:  :red: ?
a. roses b. heart c. violence
d. danger e. Answer not known
Hsg& ghiwmer ampBsd CHTHOSBHH CUTHSHIS:
GleusiTemen : MO : Fleuli] : ?
a. Gumegm b. &swib C. GUGT(LPEDM
d. eumub e. alewl OFHfluialsvensv

78. A clock seen on a mirror shows quarter to three. What is the correct time

shown by the clock?
a. 8 hours 15 minutes. b. 9 hours 12 minutes
c. 8 hours 17 minutes d. 9 hours 15 minutes

e. Answer not known

RH HIQHTIID Hewiewimiguied UTTHGID Gurgdl Gmyb 3 wewll e 15 HIOL MIGHeT
o 6ol 6lanldh ST BHBH 61660 HloaTTHHer Filwmer Gpyb?

a. 8wewll 15 MO Misel b. 9 wewll 12 Bl miser

C. 8 wewil 17 BLOL BIG6I d. 9 wewil 15 B Mise

e. alewL G fwalsdensv

Area & Volume

79. If the volume of a cube is 1000 cu.cm, then find its surface area?

a. 100 sq. cm b. 400 sq. cm c. 500 sqg. cm

d. 600 sq. cm e. Answer not known

QH HOFHITHH6 S SleNe] 1000 &H.0F.15 6Tedlled DIH6TT LBLILTLILNeN6IS HT6uTH?
a. 100 &.05.8 b. 400 5.05.8 c. 500 F.0g.8

d. 600 5.05.18 e. alenL O fwalsenev
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80. The area of a quadrilateral is 525 sq. m. the perpendiculars from two vertices
to the diagonal are 15m and 20m. what is the length of this diagonal?
a. 25m b. 30m c. 35m d. 45m e. Answer not known
QM  BIBaEIHSHer  ugluemey 525 &6, a1 Qa2 Fdsefedmbal
(Pl L SHHBG eudFWiLBD OsmGHIHar BHemmser 15 15, 20 15 ereiled
eLpemevaill L Saleir HemblLnestent?
a. 25 185 b.30 1§ c. 358 d 4518 e oL Gxfwelsbensw

81. A wire can form a square of area 36 sq. cm. what is the area of rectangle when
the same wire forms a rectangle in which one side is 2 cm?
a. 12 cm? b. 18 cm? c. 20 cm?
d. 24 cm? e. Answer not known
@(H SLIWTRIH FHT aUQaISHMS 2 (HUTHGD OIS DiSHeT LFLiLene] 36 &F.0&.10
9I6x swUImws CaTenih 2 GF.8 @ LSS Sene] 2 mLul @ OFashms
® (HUTSHGWOUTSHI DIFOF6IISHIH 6 LITLILIETE, 616560 !

a.12 5.05.8 b.18 #.05.8 c.20 5.05.18
d.24 5.05.8 e. ol Gz fNuwalsvensv
Time & Work

82. 12 men can complete a work in 36 days. In how many days will 18 men finish
the same work?

a. 16 b. 24 c. 26 d. 54 e. Answer not known

12 o' &6l @h Cauemevenwt 36 BT Heifled GFUIFH (WysHBamert. DI85 Geauemevenil
18 S H6IT 61HHme HT6TH6Med CFUIH (PIQLILITTH6NT?

a. 16 b. 24 c. 26 d. 54 e. alewL O flweaievensy

HCF & LCM

83. The product of two numbers is 432 and their LCM and HCF are 72 and 6
respectively. If one of the numbers is 24, then find the other number?
a. 16 b. 18 c.22 d. 36 e. Answer not known
B erewideflelr OL(HEBBUeVET 432 BMID Sieneusdeer L5.4.0. BBID L0.CUT.6u.
wpemmBuwl 72 BB 6 YGD. DieIbeuctiHeNled G 6Tl 24  elelled  LOBOMT(H
GTEIEN6ENTED  SHTEITE !
a. 16 b. 18 c.22 d. 36 e. alewL O flweaievensy

84. How many numbers are there between 200 and 400 which are exactly
divisible by 3, 5 and 6?
a.8 b.9 c.7 d. 6 e. Answer not known
200-&@ 400-&G10 DenL Cuiujeien Buied elamideled 3, 5 LOBBID 6 &I e
oTenIBemeNsd OaTani(h WHules u@UBLD 6160561 6183660
a.8 b.9 c.”7 d.6 e. alenL OGxflwaisdemev
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Percentage

85. Find the total amount if 15% of it is Rs. 3000?

a. Rs. 18,000 b. Rs. 20,000 c. Rs. 21,000

d. Rs. 25,000 e. Answer not known

a0 Oamewsuier 15% eeaiug ap 3000 aafled SIHOHTRHMUIS HTEwISH?
a. . 18,000 b. e5 20,000 c. b 21,000

d. em 25,000 e. alewL O flwaisvensv

86. In a class, 40% of students are boys. 60% of girls are rank holders. 40% of
students are rank holders. Find the number of boys with rank, if class strength
is 50?
a.2 b. 4 c.6 d.8 e. Answer not known
0 augliied 40% Guim wreeuTser. 60% wramalseT HID OUBBEITHET. GLTHS
rewial, realwimsefled 40% Hrb QUBBEITHET. UGG QTHS LOTewT6M,
LorentaiwiTaeier eewienfidbensd S0 eefled, HID GUBMB OTERIEITHM6T  6TewTemnTHmd

67601601 ?
a.2 b. 4 c.6 d.8 e. aleL Gz Muialsdensv
87. Inaclass of 80 students, 65% are boys. Find the number of girls?
a. 35 b. 28 c. 52 d. 38 e. Answer not known
80 BGuim GamewiL au@liuemsuied 65% GuT SeTE6T 6iaflled GLicwTH6M6I cTemTeniHend
618360601 ?
a. 35 b. 28 c. 52 d. 38 e. alenL G flwaisdenev

88. The population of a village has a constant growth of 4% every year. If its
present population is 32448. What was the population two years ago?
a. 31424 b. 28868 c. 30000
d. 31242 e. Answer not known
Qb HIMoSHET  wdHen1 OpTend @6y STs  @elbeut(n oLl 4%  gnigdh
CamemiBL  OFe0&BEHI. BUCUTIPSH DIH6T L&D OHTend 32,448 etaned E)eui(h
W BHEHHG (P& LDHHTOHTNS 6T6ileniolTd E(hHHIH (HHEGLD?
a.31424  b.28868 c.30000 d.31242 e. sl Gz flwalamev

Average

89. Arun drives 120 miles at 60 miles/hr. and then drives the next 120 miles at 40
miles/hr. what is his average speed for the entire trip?
a.42 b. 48 c. 50 d. 54 e. Answer not known
SI(HEWT  GTHTLIAIT @UH UTHAIHMS 60 eevdeT / ewl 6B GoudssHdHed 120
MD6LB6T @I BAMTT. Lleenm 40 emeoselm / wewll et GousdhHed DIBHH 120
eMLDELEH6IT L (BAHMBTT elelled GOTHBHHHe0 Sieugdk Fumam Geusld eresren?
a. 42 b. 48 c. 50 d. 54 e. alowL Gxflwaledensy
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90. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the
value of x.?

a. 35 b. 36 c.25 d. 26 e. Answer not known

41, x, 36,31, 24,37,35,27,36 @eupflen ayngfl 31 eefed X Qi1 HIL| 6T6oT60r?

a. 35 b. 36 c.25 d. 26 e. alewL O flwaisvensy
Number System

91. In a flower garden, there are 23 rose plants in the first row, 21 in the second
row, 19 in the third row and so on. There are 5 rose plants in the last row.
How many rows are there in the flower garden?

a. 12 rows b. 10 rows c. 11 rows

d. 13 rows e. Answer not known

@ UbhCaHT L HIHe0 (WHev auflmguiled 23 Crregnd GFgse, @rewimbd euflengulled
21 Gyregng GFse, apsipmd euflenguied 19 Grmemrd OFigdeT 61l e@H OCHTLT
alfeng Semliled o eTener. HmLd aifenguled 5 Gymemnd OFigser @ mliler
SIIYHCHTL L HFHe0 e1dHHemed alflengsell o elternen?

a. 12 aflengsei b. 10 euflewgseit c. 11 aflengser

d. 13 aflengsei e. alenL O flwalsdenev

92. Which one of the following numbers is exactly divisible by 11?

a. 235641 b. 245642 c. 315624
d. 415624 e. Answer not known
BIPHBWIL 6lenibeMed 11 o0 WBHUISIS euGuUBLD 6TemT 6157
a. 235641 b. 245642 c. 315624
d. 415624 e. alew OFfNuialsvensv
93. What is unit digit in the product 784 x 618 x 917 x 4637
a. 6 b. 2 c.4 d.8 e. Answer not known
784 x 618 x 917 x 463 613 OLIHHHEOH6ML QSTWTOUDH E6VHHLD 6163160 ?
a. 6 b. 2 c.4 d.8 e. alew Gz MNuwaledenso

94. If the sum of two numbers is 24 and their product is 108, then find the sum of
their reciprocals?

a.2/9b.3/7 c.5/7 d.9/2 e. Answer not known

B elenibeMet FnBHie0 24 LoB®ID DleuBnler GILIHEDHe0 108 slafled ©i66l66uET 61 6d
HMEVBIO B Fn(BH60 HT6wTSH?

a.2/9 b.3/7 c.5/7 d.9/2 e. alenL GaMNuwaledenso

Compound Interest

95. Find the compound interest on Rs. 1,000 at the rate of 10% per annum for 18
months when interest is compounded half-yearly?
a. Rs. 157.62 b. Rs. 157.63 c. Rs. 157.61
d. Rs. 157.60 e. Answer not known
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SIOTWTHI(HSHE @H (PpewB el ly DFIL 6T CFTdsliu’Lmed ap 1000-65@ L6emi(h
ally aisd 10% aislig, 18 WISEBEHSGHD (B Il SHTewiaD?

a. em 157.62 b. ep 157.63 c. ap 157.61

d. ep 157.60 e. alewL OFflwaisvensy

96. If the rate of compound interest is 12% per year and compound interest is
calculated every 3 months, then what is the total amount after 9 months when
deposited amount is one lakh?

a. Rs. 1,09,000.00 b. Rs. 1,09,060.00 c. Rs. 1,09,060.30

d. Rs. 1,09,272.70 e. Answer not known

&LG oy eipb uwibse 12% aap aissHed 3 WIGSHBEG YEHLPOD
SISHL UGB 6Teled h 6LF epuUTWl OQFesSsILLL gl 9 1omsHd SHS
CTHEH OHTMS 6161667

a. ¢p. 1,09,000.00 b. eB. 1,09,060.00 c. ep. 1,09,060.30

d. ep 1,09,272.70 e. alenL OHflwalsdenev

Simple Interest

97. Find the rate percent per annum when a principal of Rs. 5000/ - earns a S.I of
Rs. 1600 in 16 months?

a.20% b. 22% c. 18% d. 24% e. Answer not known
ah 5000 SIFIHE 16 THmIH6TN60 h 1,600 Healall lg S SHHT60, Al ly aiddhendd
HT60IH !

a. 20% b. 22% c.15% d.24% e. alewL O MNuwalsvenew
Ratio & Proportion

98. f A:B=4:6,B:C=18:5, find theratioof A :B: C?

a.12:18:5 b.12:5:18 c.18:12:5
d.5:18:12 e. Answer not known
A:B=4:6,B:C=18:5,aale0 A:B:Culer aldssmaps Sremna?
a.12:18:5 b.12:5:18 c.18:12:5
d.5:18:12 e. alenL Gz Muialsvemnsev

99. Rs. 120 is divided among A, B and C such that A’s share is Rs. 20 more than
B’s and Rs. 20 less than C’s. what is B’s share?
a.Rs. 10 b. Rs. 15 c.Rs. 20
d. Rs. 25 e. Answer not known
A, B, opmib C a1 elpediml pUTH6T qf 120 — g3 udibg Gsmerend Gurgl, A
— &1 Ukl B — e umiewEalL p 20 FmBHeorHed, C — &1 uBnd ol em 20
GOBATHAD DHHBHTeL B — 61 LI er6lalene,?
a. ap 10  b.em 15 c.ap 20 d. ap 25 e alowL Oxfweaisdemev
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100. A book contains 120 pages. Each page has 35 lines. How many pages will the
book contain if every page has 24 lines per page?
a. 170 pages b. 180 pages c. 175 pages

d. 185 pages e. Answer not known

@alGleUT(H USEBSHIHVID 35 auflsmend OCaTewL LHHBHHE OLOTHSHL LHSHHISHET
120 eteflov eal@aum(h LISHSHHID 24 aufldented SHbHHTe0 DILILSHBHHHIH GoTHSHLI
LIS BMIBET 61HSHMIUITS G (HEGLD?

a. 170 ussmisel b. 180 udsshiser c. 175 ussmisel

d. 185 udasmisel e. alewL GaMNwaledenso
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